ES= - P S
T= T

S8 e

Aol o

234 -4

234 =
@ 0.23 9000

A

29

..o 1234 -12
1234 = ——
@ 990

72
99

. 234-23
0234 = ——
e 900

205 - 20
90

D0.72=—

3 2.05 =

1.234 =
© 1.23 990
456

456 =
® 0.456 = T

1234 - 12




® -2 @ -1 ®1

@)2

® 4

(—2x% 4+ 3x) + %x + (4x3 - 5x%) + (—

(—2x% 4 3x) x 2 + (4x% - 5x?) x <—
x

2(-2x+3) - 3(4x-5) = -11
—4x+6—-12x+ 15 = -11
—16x = —32

v x=2




Qi

-
=]

o
<p

i

1 a+b 9 F

5

ald

09

a,b=t

7}

@ 22 ® 27 @®)30 ® 33

D 12

B

0.2272727 - - -

9
2

1
1

0.083333 - - -

2

2

“a=3,b=27

a+b=30




A (4a+b-1) - (—a+ 3b-4) 5 3] 5HH?

® 3a+4b-5 @ 3a+2b-3 ® 5a-2b-3

@ 5a+2b+3 @5a—2b+3

(da+b-1)—(-a+3b-4)
=4da+b-1+a-3b+4
=ba—-2b+3




@ 4x% - b5x
© x(4x—4)+2—-4x2
1
© ;—x
@ (2-4x+3x%) -2(x —4x+1)

1 1
@ <§x2 +4x- 1) - (—1 —4x - §x2>

@ 17 @ 270 @3711 @ 470 ® 57

~&B

Aol A 7P & 2447t o] ZpA o] ofof Fiet,

@. 4x* - 5x — o|xpA]o|t},

©.

x(4x —4) + 2 - 4x® = 4x® — 4x 4+ 2 - 4x% — AL 51 o)A}
=—-4x+2

©. é — x — o||gFo] o] glo B R o]}A]o] of]t},

@.
(2 - 4x+3x?) —2(x2 —4x + 1) — o|zxpA]ojr},
=2—4x+3x2-2x>+8x—-2

= x>+ 4x

@.

1x2+4x—1 (c1-ax-Lle L=
(5 +ar-1) - (1-01-32)

:lxz—i-élx—l—i—l—i—4x—|—%x2
:%x2+1x2+8x
:%x2+§x2—l—8x
:ng—i—Sx




215 9] 4o]7} 10abcm

rlo

27]1%9] B 1]% 1007a%b3cm? 0] 1, WH
<l ot} o] Y759 EolE?

H3]:100ra’b’cm’

—_——— -

@ 2bcm @)4bcm ® 6bcm

@ 8bem ® 10bcm

97159 EolE het SHAL
~ 100ma®b®  100a%b®
~ (Bab)2m  25a2b?

= 4b(cm)




x7F 1014 500]51e] Apiseel w, =

1
giek. ol x9] grol B 4 9 %

@ 174 @2711 @ 371 @ 474 ® 571

105 =3 x5 x 70| P2 x= 21 9] Hj5o|t}.
wh2bA] 21 9 B 21, 429 27t




TFE F ALS WSS B4 A, B o tste] A2 £9

A
AxB=36a3b4,§:4a

® 144ab @ 144a*p* ® 144a%p®

@144a4b4 ® 1444°b°

A
A? :(AxB)xE = 36a3b* x 4a

=36x%x4x%xa’xaxb*=144a*b*




9.

3t 9] Qo] A2 €] 527} 1, 3 9 Qo] A2 9 A7} A W, 815+
o Q9| Apel o] £AE oY (F, x y x>y 2 AL

® 1 @ 3 ®)9 @ 7 ® 2

S5 ~

T EREREE T
3,9,7,1,3,9,7,1, ---
L x=4ky, y=4ky -3
(ko < ki, ki, ke = A0l
817+ 9 = L2

_ 316k1-8k>+6

— 32(8ki-4k>+3)

— g8hi-dko+3

9 (k= AAr) A L9 A9 =9,1,9,1, -
ki, ky 7t ZFAFO| B R 8ky, 4ky £ FOlTE.
e A 8ky — dky + 3 > 0| BR

$1 -9 o] ] A2 9 ot




10. 2B+ 1) +DE*+1)(3B+1) =3*+bLd W, A5 a, b Fa+b
o] g7

@55 @1 0-15 @-16 69

~&B

2=3-10]02
B-1B+1)B2+1)B*+1)(3% +1)
=(FZ-1)E+1)E*+1)(3%+1)

=B -1)B*+1)(3¥+1)
=(38-1)(3%+1)

:316_1

a=16, b=-1

L a+b=15




olJ
0

=249 0, abec — 3 9]

1
c——-1

a

6
c

b+

11.

@ 0 3®)-1 @ 2

D1

B

L R

o

7

it
(]

=2=3==I

)x0—3

2(c-3

~ (c-3)

. abc -3




Qi

ald

+ Xxo5

X1+ x3+x5+x74+x9+ -

@ 714 )76 @ 78 ® 80

D 72

~&B

N
700

= 0.00428571

7, .

)=4x(4+8+7) =176

4, x5 =8, x7

x1 =0, x3

=~
NH




729

13. o= & &2 227

Mo

@O 5x2=320 4 o, a =5 °Jr}.
@ 32x5" =225 o, b=3 0|t}
@7x30=189%1'ﬂ1,c=301ﬂr.
@ 2¢x52=100 ¢ o, d = 3 o[t}

® 22x3°=108 & |, ¢ =2 O|T}.

~&B

D5x29=320 4 1}, 320=25%x5,a=6
@ 32x5" =225 L 1,225 =32 x 5%, h=2
@Tx3 =189 L W, 189 =33%x7,c=3
@ 29x5%2 =100 & W,100 = 22 x 52 ,d =2
®22x3 =108 € ,108=22x33,e=3




14. 95 F7H 2 4=

@ 230 @320 @ 415 @ 510

~&B

@ 230 = (23)10
@ 320 = (32)10

@ 415 = 230 — (23)10

@ 51

®) 95 = 310

webd] 7bg 2 Sk @ ol




15. the 49| zhe Fahu?

x2yz_ 2Xy+xy2z 1 1
ST SN S
XyzZ ( X 2 > Y 3 s Z )
1 1 1 5
2 3 6 - 0

B

x2yz — 2xy + 9%z
xyz Xz




